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Instructions
Read the following and answer the questions.

Eight friends - A, B, C, D, E, F, G and H, not necessarily-i e same/order sit around a square table. Four of the friends
sit at the corners, while the other four sit at the middle of e ide. The ones sitting in the middle face away from the
center while those sitting in the corners face the center.

1. G sits at one of the corners.

2. Both the neighbours of D face away
3. Both the neighbours of B face the center.
4. F sits to the immediate right of D.

5. H sits third to the left of E.

6. D does not sit opposite G.

7. B sits second to the right of F.

8. A and F sit opposite each other.

Question 1

How many seating arrangements are possible?

A 1
B 2
CcC 3 |'
D 4
E 5
Answer:
Explanati
From 1, we sits at one of the corners, so let’s fix G at 1.
Ny '
~= | M
1 2 3
<«—7 8 4 ——>»
7 6 5
L i N
From 2 and 6, we know that D sits at one of the corners but does not.sit site G.

D can sit at either 3 or 7.

If D sits at 7:

From 4, F sits at 6. From 8, A sits opposite F, so A sits at 2.

From 7, B sits second to the right of F, thus B sits at 8

From 5, H sits third to the left of E, but the only vacan es are and 5. There is no way to place H and E, thus,
this case is not possible.

4
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T
~ \ ™4
1 2 3
B« s 4 ——>
7 6 5
vl l X
D
F
If D sits at 3:

From 4, F sits'to the immediate right of D, thus, F sits at 2.

From 8, A sits opposite A, so A sits at 6.

From 5, H sits third to the left of E, there are two ways possible - E sits at 5 and H at 8 or E at 8 and H at 5.
From 7, B sits-at 4.

C will occupy the-only vacant place 7.

F
G D
i
A [ "4
1 2 3
E/H <« 8 4 ——> B
7 6 5
L l i\
C
A H/E

Since H and E can interchange their positions, two arrangements are possible. Option B is the correct answer.
Instructions
Study the following information carefully and answer the given questions.

Seven friends P, Q, R, S, T, U and V are sitting in(a straight line facing the north direction. Further it is known that:
1) Vis second to the right of T

2) P is third to the left of R

3) Tis to the right of U

4) Q is third to the left of U

Question 2

How many different seating arrangements are possible?

A 1

B 2

Cc 3

D 4

E 5
Answer: A
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Explanation:

Let us number the seating positions 1 to 7 from left to right as shown.

From statements 4 and 1 we know that Q is third to the left of U and V is second to the right of T.

But from statement 3 we know that T is to the right of U.

This is possible only when (Q, U, T, V) are sitting in positions (1, 4, 5, 7) in that order.

Now from statement2 we know that P is third to the left of R. This means that P and R must be sitting in positions 3
and 6 respectively.

Now the only remaining person S must be sitting in position 2.

Hence the seating arrangement will be as shown below.

Person Q 5 P ] T R vV
Position 1 2 3 4 5 6

~]

Instructions
Read the below information carefully and answer the following questions.

12 seats are arranged in two rows such that there are six seats in/each rew. The seats are placed in such a manner
that the distance between two adjacent chairs is same and every chair has exactly one chair in the opposite row
facing it. A, B, C, D, E, and F sit in the first row while P, Q, R,.S, T, and U sit in the second row. The following
information is also known:

1) D is sitting opposite Q

2) F is sitting opposite T

3) U is not sitting adjacent to Q

4) B is sitting third to the right of D

5) T is not sitting adjacent to Q

6) Neither Q nor R is sitting at an extreme end

7) E is to the right of A

8) B is sitting opposite R

9) C and F are sitting adjacent to each other

Question 3

How many unique arrangements are possible?

A1
B 2
Cc 3
D 4
E 5
Answer: B
Explanation:
Let us number thelpositions in row 1 from 1 to 6 and in row 2 from 7 to 12 as shown in the figure below.
Row 1
1 2 3 4 5 6 \%
/N
7 "8 . 9 Ji10 11 12 Row 2

From the fourth statement we know that B sits third to the right of D.

From first and eighth statements we know that B is opposite R and D is opposite Q.

From statement 6 we know that neither R nor Q sits at an extreme end. *

This means that neither B nor D sits at an extreme end.

From this we understand that B and D sit in positions 2 and 5 respectively:

This means that R and Q sit in positions 8 and 11 respectively.

From statement 9 we know that C and F sit adjacent to each other. Thus they must be sitting in positions 3 and 4 in
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any order.
From statements 2 and 5 we know that F is sitting opposite g«

This means that F and C must be sitting in positions 3 and 4 resp

not adjé ent to)Q.
tiv y an us/ be sitting in position 9.
From statement 7 we know that E and A must be sitting in positi egﬁéctively.
Now from statement 3 we know that U must be in position 7

Now the only remaining persons P and S can be sitting in pos i 0‘\ nd 12
Thus the final seating arrangement is as shown below.

E B F C D A

1 2 3 4 5 6 \\ %

u R T P/S Q S/P AN
7 8 9 10 11 12

SBI PC Free\\Mocks (Latest Pattern)

Read the following information carefully to r the questions that follow.

Eight dancers- M, N, O, P, Q, R, S, and T -are sitting around a square table such that four people are sitting on the
corners of the table while the other fou/ it on the middle of each edge of the table. The people who are sitting on the
corners are facing the centre of the table while people who are sitting on the edges face outward.

Further, the following information is also known ab?)ut their seating arrangement.

any order.

Instructions

)N is at one of the corners. \\

~—

(i
(ii) S and M face opposite directions but Eiomfface each other.
(ii) R is the left neighbour of N.

(iii) T is two places to the rlgh/ﬁﬁw
(iv) O and P do not face each othe’r\

(v) P and Q do not face each oth\er \'l '“"f
(vi) Qis closer to S to its right that of ;ts left.

\\__/

Question 4 6
(1
Which of the foll,a'wlng pairs are neighbors in the given arrangement as well as in the arrangement when

arranged aIphabe“tmally"
A M&T /2~
i

-'l ",'f

B R&S|| M

\\\'\ . . /}: ; _,."'
cC P&Q
D N&O

E None of the above.

Answer: E

Explanation:

Let us number the positions as shown in the diagram.

N is at one of the corners(given). Let us place N in position 1.

R is the left neighbour of N(given). R should come in position

S and M face opposite directions but do not face each other zv
(positions 2 and 6 are the only possible positions left for therfn)
T is two places to the right of M(given). Hence, T should be in"po positi
3,5,7 are the only positions left and O, P, Q are the only people le t o

Given that, O and P do not face each other, P and Q do not face each

Hence, O and Q should face each other and P should be in@‘\ ition 5.

Q is closer to S to its right that of its left (given). Hence, Q wih\ma\' position 7.

The following is the final arrangement. \))5
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7 5
R<«<—38 4— 1 »T
1 2 3
I N
N l 0]
S

The arrangement when arranged'élléhébetically looks as shown below.

R
S T Q
7 6 5
T «——38 4 —+—»p

1 2 3\

l )
M 0 ’f
N
None of the given pairs are neighbors in both the arrangements “ \\ ’J,/‘\ ‘,J

Hence, option E is the correct answer. ,,'
Instructions , f ‘,/

Read the following data carefully to answer the questlons\hat follow

Eight friends- S, T, U, V, W, X, Y, and Z -are sitting around a square table Such that four people are sitting on the
corners of the table while the other four sit on the middle of each edge,,,of the table. The people who are sitting on the
corners are facing outwards while people who are sitting ori"the edges face the centre of the table.

Further the following information is also known about their seatmgarrangement

(i)Y is at one of the corners. \

(ii) U is 3 places to the right of X. \;fj\ ] ‘
(iii) X is not facing anyone. , ‘
(iv) The person facing V is 2 places to the right of U "
(v) S and Z face opposite directions but do not face eachother.
(vi) W is third to the left of Z. \

Question 5 ‘\ \i==sm

Which of the following pairs are nelghbors m the glven arrangement as well as in the arrangement when
arranged alphabetically?
A UandV

B TandU
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c ZansS ~.

4 B

/ .
D W andX l (/w 7
E Tand$S ~— )\

Answer: D (?
- \

Explanation: \\\\_ﬁ“\

Let us number the positia'ﬁszés shown in the diagram.

Y is at one of.the corners.(given) let us place Y in position 1.

S and Z facé/opposite directions but do not face each other(given). Hence, S and Z must be at the opposite

corners(p sftions 1 andz7).
X is not fading anyone(given), X must be at a corner and should be facing Y.
Hence X wil i ition 5.

U is 3 places to right of X(given). Hence, U will be in position 2.
The person facing V is 2 places to the right of U(given). Hence, V should be in position 8.

W is third to the left of Z.(given). If Z is in position 7 there will not be any position left for W to occupy. Hence, Z should
be in position 3 and S in position 7.

The only position left is 4 and it will be occupied by T.
The following is the final arrangement.
W
S X
"< Jl’
7 6 5
V —»8 4eT1—T

The following is the order when arrangz@phab ically.
Y W
*,
\

zZ—+>s8 1etf—vV
1 3

b\
c—Ft»n
r'd

o X

——f»r~
rd

u { ’

In both the arrangements W an I‘@Q eighbors.
Hence, option D is tr}% correct an .
Instructions h&':‘

. - . .
Read the foIIOW|nngat|on carefully and answer the questions which follow.
8 friends B,D,F,H,J,L,N,P\"ére\'-gting in the first row of a movie theater facing the screen.
1)Neither F nor N is sitting at the extreme ends and they have 4 members between them.
2) F has on ne member to his left.
3)The number of people_ to the left of P is same as the number of people to the right of J.
4) There are exactly 3 " mbers to the left of D and B is only one sitting between D and L.
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Question 6

How many seating arrangements are possible?

A 2

B 4

C 8

D 16

E 32
Answer: A

Explanation:

Let us number the positions as shown in the diagram.

Neither F nor N is sitting at the extreme ends and they have 4-members between them.(given).Therefore F andN will
be in positions 2 and 7.

F has only one member to his left(given), F will be in position 2 and /N will be in position 7.

There are exactly 3 members to the left of D(given), D willbe.in pasition 4.

B is only one sitting between D and L(given), B and L can only be’in position 5 and 6 respectively.

The Number of people to the left of P is same as;the number of people to the right of J(given), P and ] will be in
position 1 and 8 as there are no other positions available for them.

H will occupy the position 3.

Position |1 2 3 4 5 6 7 8
Person P/ F H D B L N J/P

There are two different seating arrangements possible.

SBI PO Solved Previous Papers (Download PDF)

Instructions

Eight friends A, B, C, D, E, F,Gand.H are sitting in a straight line facing the same direction.
Further, the following information is-also_known.

* C sits sixth to the right of/B.

* F is a neighbor of C and sits second to the right of A.

* E sits next to the left of G.

* D is not a neighbor of A.

* A is not a neighber.of C.

Question 7

How many different seating arrangements are possible?

A1
B 2
c 3
D 4

E None of these

Answer: B

Explanation:
Let's number the positions as shown below
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1 2 3 4 5 6 7 8

g
"C sits sixth to the right of B." ==> two arrangements posé\bLe C and B on 8th, 2nd spot respectively or 7th, 1st spot

respectively.
Case 1: B and C on spots 2 and 8
"F is a neighbor of C and sits second to the right of A. &\?F andA/sit on spots 7 and 5 respectively

"E sits next to the left of G." ==> the only possible arrangement |s E and G on spots 3 and 4 respectively.
(\
"D is not a neighbor of A." ==> D on spot 1. \\\
the following arrangement could be derlveoTrﬂthls\ case =5
e
D B E G A H F C
1 2 3 4 5 6 7 8

Case 2: Band Con spots 1 and 7 respegtwely //
"F is a neighbor of C and sits second to\the thj: f A.", "Ais not a neighbor of C" ==> F and A sit on spots 6 and 4
respectively

"E sits next to the left of G. /= => the only possible arrangement is, E and G on spots 2 and 3 respectively.

"D is not a neighbor of A. --r___> 6’on §pot 8.

LI f I’
the following arrangement coulﬁ'be derjlved in this case

\

B E G A H F C D
1 2 3 4 5 6 7 8

Two seatlng arrangements are possible.

Instructm{!s

Read the fo\llo\wrrig (nformatlon carefully and answer the questions that follow.

8 chairs are arranged in 2 rows, row 1 (seats 1-4 facing south) and row 2 (seats 5-8 facing north), such that seat 1 is

facing seat 5 and vice-versa, seat 2 is facing seat 6 and vice-versa and so on. Pair of seats such as 1-8, 6-3 etc. are

diagonally opposite to each other. Eight people A, B, C, D, E, F, G, and H are sitting on these chairs. The following

information is known about their seating arrangement-

(i) A sits diagonally opposite to B and C sits opposite to D.

ii) G doesn’t sit on the extreme. 7/
B

(

(i) If B sits opposite to G, H sits opposite to E. In all other cases; B sits o po and G sits opposite to H.
(iv) G sits towards the left of A.

(v) B and H sit in the same row. Similarly, A and C sit in the same /row.
(vi) A doesn’t sit adjacent to E and G doesn’t sit diagonally opposi

(

vii) B sits in row 1. /

/ \
Question 8 N
How many unique arrangements are possible? y
\

A 8

B 6 <
C 4 )

D 2 (\ \'\
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g None of these

Answer: E
Explanation: £/
From (vii) we know that B sit in row 1 and from (i)/We know that he sits diagonally opposite to A. So, B can sit on seat 1
or seat 2. He can’t sit on 3 as in that Case A will 5/;JE on 6 and G on 5 which can’t be possible as he doesn’t sit on
extreme. For the same reason, B on seat 4is als6 not possible.
Case 1: Bsitson seat 1
This means that A sits on 8. Infehls case B can’t sit opposite to G. So, from (iii) he sits opposite to E and H sits opposite
to G. Also, H must be in row 1 SC} G sits opposite to H and C opposite to D. So, G and C must be seated on either 6 or
7. But in both the cases, G WI|| be dlagonally opposite to D.

B H/D D/H F /)

Case 2: B s’it"s onseat 2

This mean% A is seated 6h 7. So, only place left for G is 6 as he can’t sit on extreme. So, in this case B sits opposite to
G, this mea\ns H sits opp05|te to E. C and D also sit opposite to each other. This, means A must be seated opposite to
F. Since, A dOESrlT_sWadJacent to E, C must be seated on 8. This means that D is on 4. Since H sits in the same row as
B, he sits on 1 and E on 5. The complete arrangement is as shown below-

H B F D
1 2 3 4
E G A C /
5 6 7 8 7 / ‘ \
\
We can see that only one arrangement is possible. /’/
Instructions L
, ( f \
A, B,C, D, E F, G, Hare standing in a row facing north. LJ
1) F is between G and E with G to his immediate left and E to |s i ia /|ght
2) G is not at any extreme end. J\ )
3) Ais 6th to the left of E. a '
4) H is 6th to the right of C. K\\\\
Question 9 )
If we arrange the persons in an alphabetical ordek}n a row, then how many persons would have same
position from the left? R “‘ =
A 1 \!
B 2
CcC 3
D 4 ’,'
'I ' "’F?
E Cannot be determined //’
" - ,f"/
Answer: E e
Explanation: y S

From the first point, we know thathFE are sitting on consecutive seats. A is 6th to the left of E means E should occupy
either 7th or 8th position. L/ “| 'I
The possibilities are \ \ /)

A7
)
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-A---GFEor -
A---GFE-
Now H is 6th to th

ight of C.
ied.by only second arrangement.
AC--GFEH.

This case can be sati
There are tw/(y ossible seatind arrangementsstACBDGFEHorACDBGFEH.
§/ApB CDEF GH,then A, D, H are at the same place in the first arrangement and A, H are in the same
place in th |"second arrz?nlgement.
The number.can be 2 or3. Hence the answer cannot be determined.
\/ﬁ

105 SBI PO Mocks - Just Rs. 249

Question 10

Who is sitting at the last position from the left?

A D
B A
C H
D E

E Cannot be determined.

Answer: C

Explanation:

From the first point, we know that GFE are sitting on cutive seats. A is 6th to the left of E means E should occupy
either 7th or 8th position.

The possibilities are

-A---GFEor
A---GFE-
Now H is 6th to the right of C.
This case can be satisfied by only second arr @’
AC--GFEH.
There are two possible seating arrangements:A C B D EHorACDBGFEH.
Question 11 /
If D is not the neigbor of G, then #Q) is sﬂ:/t)ﬁb immediately left of D?
A B o
B A —
7 ~.
@A

l,‘ '-\-\./“
C G u (

S
D C =

7
E None of these.\mCx

Answer: D —~

From the fi s/t/point, we know that GFE are sitting on consecutive seats. A is 6th to the left of E means E should occupy
either 7th

[ 8th positiofi.
The possibilities are //

-A---GFE
A---GFE-
Now H is 6th to the right of C.
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This case can be satisfied by only second arrangement.
AC--GFEH.

There are two possible seating arrangements:ACBD GFEHorACD
The given case is of ACDBGFEH. C is to the immediate left of D.

Question 12

Who is sitting at the second position from the left?

A C
B A
C B
D G

E Cannot be determined

Answer: A

Explanation:
From the first point, we know that GFE are-sitting tive seats. A is 6th to the left of E means E should occupy
either 7th or 8th position.

The possibilities are

-A---GFEor

A---GFE-

Now H is 6th to the right of C.

This case can be satisfied by only se
AC--GFEH. -
There are two possible seating arrangem

CBDGFEHorACDBGFEH.

f‘“‘ nload SBI PO Syllabus PDF

Question 13

How many seating arrangements are possible?

- \
B 2

C 3 /
| B
E 5
Answer: B

Explanation:
From the first point, we know that GFE are sitting on consecutive seats./A
either 7th or 8th position.

The possibilities are

-A---GFEor

A---GFE-

Now H is 6th to the right of C.

This case can be satisfied by only second arrangement.
AC--GFEH.

There are two possible seating arrangements:ACB D G F E H'orA

s 6th to the left of E means E should occupy

Instructions

O
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Study the following information to answer the given question:
Twelve people are sitting in two parallel rows containing six peop h such that they are equidistant from each
other. Inrow 1: P, Q, R, S, T and V are seated and all of.them are facing South. In row 2: A, B, C, D, E and F are seated
and all of them are facing North. Therefore in the given ing arrangement, each member is seated in a row faces
another member of the other row.

S sits third to the right of Q.

Either S or Q sits at an extreme end of
The one who faces Q sits second to the ri
Two people sit between B and F.

Neither B nor F sits at an extreme end of the Iine\?‘x%

The immediate neighbour of B faces the person who sits'third to the left of P.
R and T are immediate neighbours

C sits second to the left of A
T does not face the immediate neighbour of D.

Question 14

Four of the following five are alike in a certain way based on the give arrangements and so form a
group.Which is the one th oes not belong to that group ?

A AT

B B-T

C F-P {
D CV
E E-Q
Answer E\j
Explanation:

From the first three conditions, two solns are possible

S__Q__

t "‘

As B and F have two people between them and neither are at
place. Hence, we can rule out configuration 1.

st by in the second and fifth

From the 6th condition, B should be fifth from left and F seco
Thus, we get
P_.S__Q
_F_EB_

As C is second to the left of A, C must be first from left and A third. ce, D is last from left. Thus, we can place all
the people as follows

JPVSTRQ
TCFAEBD

In all pairs except E-Q, the first person faces-an i i ighbour of the second person.

4

Hence, option E is correct.
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